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Note : First 15 minutes are allotted for the
candidates to read the question
paper.
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Instruction :
)y Al questions  are compulsory.,
Marks allotted to each question
are given in the margin.
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i) In numerical questions, give all

the steps of calculation.

iiiy Give relevant answers to the
questions. :
iv) Give chemical equations

wherever necessary-
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i) HCOOH

i) CH,COOH

ili) HCHO |

iv) CH,CHO
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1. Four alternatives gre given in each part

of this question. Select

the correct

alternative and wnte it in your answer-
book :

a)

b)

d)

7500

Structure Uf the crystal of - sodium
chloride is

i)  body centred cubic ( bcc]

i) face centred cubic ( fec)
iii) orthorhombic

iv) tetragonal 1
Necessary mass of Na,CO, for

900 ml, 02 M solution is

i} 1-53 gm

i) 306 gm

i) 53 gm

iwv) 106 gm . 1

Unit of vt‘:lomty cnnstant of first
order reaction is

i)  mol litre "l sec™

i) mol litre ™

i) mol second™’

iv) second -1
Which of the following does not
reduce Fehling's solution ?

iy  HCOOH

i) CH,COOH

iijy HCHO :
iv) CH,CHO -
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€) The reaction for the change of 3midﬁ

)

Q)

7500

into amine is

i)  Cannizzaro's reaction

i) Hofmann's bromamide reaction
iiij) Williamson's syrithesis
.iv) Wurtz reaction

The sweetest sugar is

i}  Glucose

ii) Sucroseé

iif) Fructose

iﬂ Maltose’ _ 1
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25°C W KCl & N/s0 faeed art &
&1 fale I 0.002765 & ¥
%1 ik ¥ &1 uferiy 400 9 @ @ A
feri® = UM At | 5
arfueieoT U8 Steviyor § fadg wifeg ) 2
Edge length of fcc unit cell of an

ionic solid is 508 pm. If the radius
of cation is 110 pm, calculate the

radius of anion. 2

9 gm glucose is dissolved in 500 gm
of. water. Find out the boiling point
of the solution at a pressure of

1-013 bar. |
(k, for water = 0-52 K kg mol'l}

. 2

At 25°C  specific conductance
of N/SO0 . KCl solution cell 1s
0002765 nho cm . If the
resistance. of the cell is 400 ohm,
2

calcilate co 'l onstant.
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i) [Ni(NH;)g |Cl,

1

ii)

i) Fe,[Fe(CN);]Cl, 1+1

) ﬁﬁ?ﬂmmﬁﬁmw| 2

lement has bcc geometry and

a) An €
ge length 1s

atomic mass is 50. If ed
290 pm, calculate the density of

unit cell. 2

Why are halogens coloured ? 1

ij Compounds of xenon are
known in the largest numbers

in noble gases. Why 2. 1
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. write IUPAC
c) ) Nnam ]
coordination Ccm:osu‘:-‘t;ithe following
S :

i) INI[NHSIE ]Clg

d) Differentiate between
fructose. glucose ang
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. ;1} What is Koh]rauSCh law
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two applications.

b}  Write short notes on the fol]owil’lg .1/2

c) i  Why is methylamine m

C

d)

A B
QHENDQ —'—}CEHSNHQ __.{_l_-}C,ZHSOH
: 1%2 -

1% * 1
1] ~ Hardy-Schulze rule
11 El i .
) ectrophoresis. ore basic

. . 1
than ammonia ? Explain. . ?
ii) Complete the following

chemical equation :

Write the structural formula of
fructose. How will. you convert
glucose into fructose ? Write only
chemical equation. 1Y% + 1%
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iii)  STEURM SREARTEE T (Il

iv) Fifzan YremEaEEEd Be (11).
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1+1+1+1
Explain the difference between
molecular elevation constant and
molal elevation constant. Using

these constants, write two formulae

separately for the calculation of

molecular mass of the solute.
2+1+1
Write the equation of first order
reaction and explain the terms used.

Half-life period of a first 0rd1er
reaction is ©693 seC Calculate st;
2+

rate constant.
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c)

d}

Write the formulae of the following °

1+ 1F 1"
i}  White vitriol
i)  Blue vitriol
i11)  Green vitriol
iv) Mohr's salt.

Write the formulae of the fq]lowmg
according to the JUPAC rules :

i) Hexaamine cobalt () sulphate -
i) Potassium hexacyanoiron (1)
iiij Diamine dichloridoplatinum (1)

iv) Sodium pentacyannnitrosyl
ferrate (I1I). 1+1+1+1

I s R 2 B O
@ H,S0,, f™@ CaCl, @
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ii)  Diet :
iv) TR POl % syfurfed @ acet;}fﬂ €ther is heated with,
T2 37 T ' of a Chloride in the presence
ﬂ' ¢ fagll L Rhydroys AlCl, ?
K it o o & 9 ’TI-T + 1 u) gtll';ana_l reacts with acetic
- SR 2 1j+1+17F 1 . “I_.ﬂ‘?‘nde in the presence of
6. a i) Why are conc. HS0%’ iv) E{hla ol o

anhydrous CaCl.. and p205 not nol reacts with PCl4 ?
d 0 nia ? V) Phenol s peated with zinc
used for drying ammo other _ dust ? 1+1+1+1+1

) HiEE oo fefr

-ii)  Nitrogen is a gas while

members of this group m‘; ) -
solid. Why ? 3+ 1) ﬁéﬁ-ﬁ;ﬁm e
OR i) - TRfem ayfigt:
Describe the industrial manufacture: -11} . '
of nitric acid by Ostwald's process it) TR 1 AR |
with labelled diagram. How will you - ' 2+2+1
test NO; radical in this acid ? Also | g |
write the chemical equations of the F w5 0 (3 o 5
reactions. 3+2 , 2 (%9 HEER
b} Write short notes on the following : _ @)
_I{IJ Erﬁdd-cf'ﬁi reaction i) 1 -SHETT @ 2-SEEee
11 aLDe reaclion : . . _
iii) Williamson's synthesis. - i) Tiue aEEe @ e
oR 242+ i) WHH F ufeier iR
What happens when — (Write iv) I ¥ IR Eilrlfég
chemical equation only ) | _ v) Eqm?ﬂ:[_l 3 j_aﬁ':ﬁaq?_:”
i) Phenol is heated with CCl,ip A 1+1+1+1+1

presence of NaOH and then
hydrolysed ?
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B). (©), (D) @ @) F T
foitigu - .
)  (HCOO),Ca—2 AEL > (A
. E?T&D_H)[EJ + CHiOH
. O ZCa
ii) [Cﬂscoo}zc;a%’ (©
HCN | ) Fa- 3T, ()
L ega1+1%]

g feopit fefau -
i) SACTEEIEE W1 SEg I
i) AiIgE IR H ATEZ BT
ifi) YAIE T | 2+2+1

Write short notes on the following :
i)  Wurtz-Fittig reaction

-ii) _ Fittig reaction

iiij Nitration of chlorobenzene.
' 2+2+1

OR

How will you obtain ? (Write -

chemical equation only )
1) 2-bromopropanc from .1-bromo

propane
Ethane from methyl iodide

ii)

* *V [ Turn over
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111) All}l CthI‘idg from prol)t:nt’
iv) Isopropyl bromide from propent

v l'bmfnﬂbutane from
butene-1. j+1+1+1+1

b) Completé the following reaclions
and write names and formulac of
(A), (B), (C), (D) and (E) :
) (HCOO),Ca DY 4Bt (A)
NaOll, gy 4 CH,0H
. [HCUG].? Ca_‘ C
ii) {LH*COO]‘ECQ Dry distillation > (©)
HON D) H}'drolysisf i.E}
. 1+1+1+1+1
| OR
Write short notes on the following :
: , 2+2+1
i)  Nitration of benzaldehyde
i)  Nitration of benzoic acid
iij) Rosenmund reduction.
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